
WAVE



ST4x35mm ST4x10mm ST4x30 mm

x 2

x 2

x 6 x 6

Ø 3.2mm

a1 2 5

x 8

3

Ø 3.2mmN3 N5

11

Tools Needed:

Accessories Bags:

23

This product fulfils the EN14428 standard

Getting Start:

Caution: Always Handle Glass With Care! 
Always protect the edges and corners of the glass
when assembling.

2 people are recommended to assemble 
this shower enclosure Gloves are recommended to prevent slippery on glass

Goggles are recommended to protect the eyes

EN14428

EN12150
All glass used are tempered security glass

ST4x35 mm

x 2

4

M6

M6

x 2

6

14 15

7 9

13

Shorter

20 21

N2

8 10

18

M4x18

16

ST4x12mm

X 2

19

Longer

Shorter

Longer

12

17

24 34



Model A B
90x90 900mm 2030mm

C
2150 - 2450mm

Exploded View:Measurement:

A

700mm
Max. door opening

B C
A



Exploded View:Exploded View:

Ø3.2mm

11 8 9

18

19

6

30

29
4

32mm

X 1

X 1 X 1

2

5

23

3

31

12

13

7

17

33
36

16

35

1

21

20

15

22

32

26

14

28

24

25 N2 N3

10

N5

27

Shoter

Longer

34



Exploded View:Exploded View:

Drainage set

Marble tray

Back panel with white alu profile

Side Panel with white alu profile

Door with white alu profile

Tray feet

set

pc

pc

pc

pc

pc

26

27

28

29

30

31

Thermostatic mixer (WAVE & AVANTI) pc32

White alu profile column pc

set

33

PVC hoses (longer & shorter)34

Drawing Nr. Art Nr. Description Unit
1

2

3

4

5

6

7

8

10

12

14

15

11

ST4x35mm screw

set

ST4x30mm screw

ST4x35mm screw (tapered)

Screw cover (Transparent & White)

M6 tray corner screw

M6 rail profile screw

N2 allen key

N5 allen key

Drill bit (3.2mm)

ST4x10mm screw

Magnetic gasket

Gasket on side panel

Gasket on back panel

9 N3 allen key

18mm bottom gasket (1.0m)

Rainforest LED shower head

Shower bar bracket

150cm shower hose

Water outlet for shower head

NORO stainless steel handle

Drainage cover

Ø32mm drainage pipe

Shower head

pair

pc

pc

pc

set

pc

set

pc

pc

set

set

Hinge set with screw

13

Overhead shower  bar

set

pc

9473-A

9473-B

9473-C

9473-D

9473-E

9473-F

9473-G

9473-H

9473-I

9473-J

9473-K

9145-F

9473-L

9473-M

9473-N

9473-O

9473-P

9473-Q
Back panel with matt silver profile pc9473-R

9473-S

Side Panel with matt silver profile pc9473-T

9473-U

Door with matt silver profile pc9473-V

9473-W

9473-X
Matt silver profile  column pc9473-Y

9473-Z

pcHinge profile (white silver)
35

9473-AA

pcHinge profile (matt silver)9473-AB
pcRail profile (white silver)

36
9473-AC

pcRail profile (matt silver)9473-AD

16

17

18

19

20

21

22

23

24

25



2 3

5

8

4

9

x 5x 5

1

Ø 32mm 

32mm 12

3

11

6

!

13

7 9

2 5

11

7



10 11

15

12

13

16

14

M4x18

17

16

14

1

6

10

15

19

18

17

23

4

18
21

20

24

30-330m
m

ST4x12

34

8

11



WAVE
Noro Scandinavia

Ver.001

035 166430
info@noro.se

020 7435740
info@norokylpyhuone.fi

692 36170
info@noro.se

070 252822
info@noro.se


